Given f: x = 5 — 3x, find the following values of f. (8-7)

@f@)@ 76. 1(~ 1) (o [8] 59

Given G(n) = i’ + 2n, find the following values of G. (8-7)
1
G(0) @ 80. G(—2) G<E> 82. G(3)
Find all the values of each function. (8-7)
hx)=5-2x—22,D={1,2,3} 84. M) = -—2—,D={-1,0, 1}
4y +2

=2Z,-%-10
Find the range of each func%on. s 3
X=5%5,1,-3%

@ rz— =3 —dz, D={-2, —1, 0}

@ G:w—w—Dw+1),D={=2,0,2} 88. k:v—1v:—4v+2 D={3,4,5}
R= 53/ %

Find the vertex and the axis of symmetry of the graph of each equation. (8-8)

Use the vertex and at least four other points to graph the equation.

(8-7)

86. N:s—>——51_03,D={2, 4, 8}

89. y = 4x2 90. y = —2x° 91. y = %xz

92, y = —x® + 3x 93, y=x2—2x+5 94, y=4- 22

Find the vertex. Then give the least value of the function. (8-8)

95. f x— x>+ Tx 96. g x—>x*—3x—4 97. h: x— =x*

| —

Find the vertex. Then give the greatest value of the function. (8-8)

98. f(x) = x — 3x° 99. gy =2— 32 . 100. h(x) = —x2 —x — 1

In Exercises 101 and 102, find the constant of variation. (8-9)

@ y varies directly as x, and y = 12 when x = 60.
@ g is directly proportional to p, and ¢ = 144 when p = 24. @

@ If n varies directly as m, and n = 300 when m =5, find n when m = 15.

104) If b is directly proportional to a, and b = 28.7 when a = 4.1, find b
when a = 13. , / /

(x1, y1) and (x,, y,) are ordered pairs of the same direct variation. (8-9)
Find each missing value.

=35,30=7 g 106.m=52y=5 107. x, =
?

xp =105, y, = n=_1_,y,=1
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(8-9, 8-10)

For each variation described, state (a) a formula and (b) a proportion.
The circumference, C, of a circle is directly proportional to the diameter,d) = kc‘ b) 5—"—:
1]

d, of the circle.
The elongation, e, of a coil spring varies directly as the mass, m, sus- Q) €.=L'”' b) <
pended from it. "%
The length, [, of the shadow of a vertical object at a given time and loca- Q) ﬁ-_—kL L) Q,
W,

tion varies directly with the height, %, of the object.
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